Simplifying Trigonometric Identities Name:

Directions: Simplify the following expressions and match them with their solution. Connect the number of the
question with the letter of the solution to create a picture. Show all work on a separate sheet of paper!

1. sec?x—1 - sin X — cos x
) 1 " sin XCos X
" sinx 24. 1—sec? x
3. sin xcot X 25. 1—csc? x
- 2 -
4 Sin*x 26. 3(sin’ x + cos’ X)
1+ cos x 27. cos X tan X + sin x cot X
5. 1+tan? x
6. csc’ x—cot? x
cos? A. CSCX
+sin x
i C. SeCX+CSCX
sin X + oS X )
8 —— D. sinx
sin X cos X
; E. secx
9 CO_Xl F. 2
CSC X — G -1
1 2
10, —— H. cos” X
tan x
. 3
1
11, —— J. cscx-1
cot x
K. secx-1
1o COSX 5
" cotx L. cot” X
, M. SEc X — CSC X
13. cot“ x+1
A N. secx+1
14, —— 0.0
COS X
) P. tan®x
cot” x
15, — = Q. cosX
cscx+1 2
- , R. —cot? x
16. sSin“ X+cos” Xx+1 )
, , S. sec’x
17. 1—(sec” x —tan” x) .
T. 1-sinX
2
18. csc” x—1 U. cscx+1
19. 1—sin® x V. tanx
20 tan® x W. 1-cos X
" secx—1 X. —tan?x
tanzx Y COtX
21, —
secX+1 Z. csc? X
22. —(sin” x +cos’ X) AA. sin X + cos x
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